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Notes:

1. Right side of figures indicates full marks of Question.
2. Answer to the Two Sections should be written Separately in the same Answer
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SECTION I
Q-1 | Discuss various methods and techniques of Costing in detail. (1
OR
Q-1 ! {A) Differences between Costing Account & Financial accounting a7
(B) Discuss Objectives of Cost Accounting.
Q-2 | Distinguish difference between (A) Marginal Costing And Absorption Costing (18)
(B) Marginal Costing and Differential Costing
OR
Q-2 | Your company has a production capacity of 2,00,000 units per year, Normal capacity | (18)
utilization is reckoned at 90%. Standard Variable Production costs are Rs. 11p.u. The
fixed costs are Rs. 3,60,000 per vear. Variable selling costs are Rs. 3p.u. and fixed
selling costs are Rs.2,70,000 per year. The unit selling pricé is Rs.20. In the year just
ended on 30 June, 2012, the production was 1,60,000 units and sales were 1,350,000
units. The closing inventory on 30-6-2012 was 20,000 units. The actual variable
production costs for the year was Rs. 35,000 higher than the standard.
Calculate:
| (1) The profit for the year
(a) by absorption costing method
(b) by the marginal cost method.
(2) Explain the difference in profits.
SECTION X ,
Q-3 | X Limited has recently introduced an Activity Based Costing System. It manufactures | (17)
three products, details of which are set out below:
Particulars Product A Product B Product C
Budgeted annual production 100000 100000 50000
(units)
Batch size (units) 100 50 25
Machine set-ups per batch 3 4 6
Purchase orders per batch 2 I 1

TR




Processing time per unit 2 3 ' 3
(minutes)

Three cost pools have been identified. Their budgeted costs for the year ending 31st
March 2017 are as follows:

Machine set-ups costs T 1,50,000
Purchasing of materials T 70,000
Processing F 80,000

Find out cost per unit of all products using Activity Based Costing.

OR

. Q“’3

Write Note On:
(A) Target Costing
(B) Life Cycle Costing

17)

Q-4

Write Note on ( Any Two)

(A) Cost Audit Report

(B) Cost Audit in India

(C) Cost Auditor

(D) Advantage And Disadvantage of Cost Audit

(18)
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